WS FHERB K AL
Product Model: Seattle B Sofa (Two-Seater)

A% U R
Assembly Manual

Rl P -

Assembly View:

B
Step 1:

BEIE
Exploded View:

B

() pommm

Half-Moon V\'aJvcr

(e

Self- Tapping Screws M4*50 x 2

Hex Socket M.

Wrenchx 1

M8 Hex Socket Screw x 4| M8 Spring Washer x 6 Wooden Dowels ¢ 10*30x 2 [Fully Threaded Rods M8*80 x 2
WA FRIZFMS x 4 M8 i X 6 M8/ X 6 ARHEG10%30 X 2 | 2LLIEFTMS*80 X2 FAF X2
(©)} H D ) K

w

Self-Tapping Screws M4*30 x 8

wF X1 HAS M5 X1 BITMA50 X 2

M4*30H B4 X 8






